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And he needs the wood — IV I

OVERVIEW

X372 27 ruled that if one prunes a tree 22 W3, and intends to use the wood, he is
liable for two nXur N1127p, one for ¥y (the pruning helps the tree grow) and one
for 72> (he is harvesting the wood). Moo explains the requirement of QXY 7°X.

= 209890 7598 13992 1N91ND NN NIRY NINDN 29NNT NTINS 2299 1DPANT HINI)
It is the view of nMooIn that even according to >'"9 who maintains that one is
liable for a m9I% 7999 KW 7o89%, nevertheless we require that he needs the
wo00d, in order to be 2>°11 for 7¥17 in this case -
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For regarding wood it is not considered 92 unless it is done in this manner,
that he needs the wood, but not if he does not intend to use the wood —

mooIn offers a similar example:
= 329159 1319 DY PN NONY NN HY YNHPNR MNT 3N

It is like one who tears for the purpose of resewing, or one who erases for the

purpose of writing, however for tearing 119n% "y X>w or for erasing 211N3% 1"y X5w he would

be Mo, the same applies to harvesting wood that it requires 2°xy? X -
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And as °'"9 ruled later in nan P9, ‘whether it is preserved vegetables or

whether it is stewed vegetables, from which he squeezed out their liquid; it depends -
= INVN 299N 1919 9N J9NY

If he squeezes out the liquids for the sake of the vegetables (he did not want them

19139 72°7% ArRw 7ox9n (literally, work which is not needed for itself) refers to a case where one happens to do a
TR, but he does not need the 71387, for instance where one captures a snake (which is the o871 of 7¥); however
he does not want the snake; he trapped it only so that it should not bite him. This is a 7387 (he is capturing the
snake), but it is 7517 713°7% 71X; he does not want what he captured. According to Pynw "1 a 3"9¥XwnH is MOKX 7aR WD,
according to *"1 he is nXvr 2.
2 Seemingly according to >3 he should be 271 for 737 even if he does not need the 2°%y; he is doing the 7oX71 of
1%, so even though he does not need the wood (as in the actual 7087 of J¥37 where one needs what he is
harvesting), he should still be 211 for >"1 maintains one is 2711 for a 3"¥Xwn. This is similar to the case of w1 7%7 in
footnote # 1. MoOIN rejects this reasoning.
3 y1ip and prm are 2p9pn, so if it is not Jpn? n"y they are 7wy, Similarly cutting wood off a tree is also a %p%pn (not in
regards to the 77'n1, but) in regards to the 77°¢p (he is destroying these branches, which he is [supposedly]
harvesting), and he would be Mo, unless he is 2°%y% 713, [The same would not apply by grains and vegetables or
fruits where harvesting them can never be misconstrued as 27%1. The produce is ripe and needs to be harvested.]
4 mvno (squeezing out liquids from its source) is forbidden if one desires the liquid. It is generally considered a 77210
of w7 (threshing) where one foodstuff (kernel) is removed from it source (chaff).
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to contain the liquid), it is permitted, however if he squeezed out the liquids

because he wanted the liquids, he is 297 a PR 1297.5 The question is -
- 1I91Y 199 NNV ENINTND 1115 19939 Y INDIN)

But why is it permitted 3213 70m07; it should be like a 3""™>xNwn?!

$792 3YT 7797 PNRY 29D NPYL NIN
Rather one must say the reason it is 1m» because this is not the manner in
which one performs 7w>7 (threshing).

SUMMARY
If one is D°%¥Y% 7% XY AT he is MWY; it is not considered a 727X AIRY 7R
9.

THINKING IT OVER
1. Why does mooin bring two proofs; one from prmim y1p and the other from
u°mI0?

2. How can we distinguish between a 2"93xwn (pick anyone’) where he is 271
(°"7%) or (w"17) MoK, and the cases of D°X¥% 7% 1KY 27 (where he is ¥"12% Mwd)
or 1917 Mo (where he is nN)?

5 If he wants the liquid, this is the actual 77910 (798%7) of 7wMD.

¢ Even w"1 agrees that a 3”53xwn is MOX (728 M), so how can "1 permit to squeeze 19132 NPYY.

" mvono (squeezing out liquid) is a 77210 of w7 (threshing). Threshing is for the purpose if extracting and utilizing the
kernels; no one is threshing in order they should have the chaff; it is the opposite of what the intention should be.
Similarly here by the liquids if he is vmo in order the N5 should have no liquid that is the opposite of v 0.

8 Therefore it is not considered a 79897 at all, not even a 779137 72°7X 71X 79897, In this case of 1913% 700 he is not
S7pn and nevertheless it is 1nn, because the unusual purpose of doing this 7287 removes it from the category of
7OX7n, the same can apply to D°X¥2 7% 11°KY 77 that it too cannot be considered a 719877, since it is 722 7% 717 PX.
% See footnote # 1.
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